


 

4. Disjoin the Sandhis any two of the following :                                    1x2=2 

      (i) शयनम् । 
(ii) रा=ी  । 
(iii) महा>यः  । 

 (iv) पावकः  । 

5. Decline any two of the following :                                                    1x2=2 

(i) फल in ि@तीया बAवचन। 
(ii) िपतृ in षBी बAवचन। 
(iii) लता in चतुथC एकवचन। 

       (iv) मुिन in 0थमा एकवचन। 

 

6. Conjugate any two of the following :                                                1x2=2  

         
        (i) भू in लोट् 0थम पुGष बAवचन। 

(ii) गम् in लङ् मIम पुGष एकवचन। 
(iii) कृ in लट् 0थम पुGष एकवचन। 
(iv) सेव् in िविधिलङ् 0थम पुGष बAवचन। 

7.  Account for the case-endings of any four of the following :             1x4=4 

         (i)   Kामं गLन् तृणं Mृशित।  
         (ii)   पुNेOः  Mृहयित।  

 (iii)  मूिषकः  माजा1रात् िबभेित। 

 (iv)  बालकः  च�ं प*ित। 

 (v)  केशेषु चमरी ंह#�। 
(vi)  िव@ान् सवQषां पूिजतः । 

8.  Expound and name the Samasa of any two of the following :         2×2=4 

(i) महायशा । 
(ii) किवRेBः  । 

(iii) पूव1कायः  । 

(iv) ि(लोकी । 

 

 


